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Before beginning to answer a question, its Senal Number must be written.
- mﬁ?ﬁw%aﬁ‘a#eﬁ?wﬁﬁ?ﬁf

Don’t leave blank page/ pages in your answer—book

°'Wgﬂﬁw%aﬁﬁaﬁﬁs‘wsﬁ€%’?ﬁ@’ﬁfﬁﬁ WW@W@?W&WWW?
P12y

Except answer-book, no extra sheet will be given. Write to the point and do not
Strike the written answer.
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o GOERS ST T o geT-uF UT AT fIE) T To P SN I 7T o Z g
e ofiv dmfeqs godt 3 Fud T Rl 5T 3 (A9 T TS

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on ansSwers of objective

type questions.

. PV e 3 G 87 @ o 7 ghe w7 fr e g 9 @ & gh & 90T &
T g o aar @ T A T
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this régard; will be entertained after

examination.

G 3% :
Generél Instructions :
() & 9T S &l
All questions are compulsory.
(i) @ FeT B oF TH AT T T 8
Marks of all the questions are shown against- therﬁ.
(i) FoT B @ 9T B T TH @& T AT v
Attempt all parts of a question togetﬁer.

(iv) 1 9% a7 F9% 97 H TAT & T 7 0% T & @@Wgﬁ?‘%aﬁ?ﬁg’?
feq g dfor Rer @l @ gid o

Answer to each question carrying 1 mark should not exceed more than oné

sentence. Answer the multiple choice questions by selecting correct option

Fill in the blanks.
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(v) 2 GFH FrT gEF 597 F IV 30 I=T @ JEFE T &l

Answer to each question carryiﬁg 2 marks should not exceed 30 words.
(vi) 3 GFFF T TOF T I FAT A0 & 60 = § HF 7 &

Answer to each question carrying 3 marks should not exceed 40 to 60
words.

(vii) 5 wﬁwmgwasfaﬁnoo 7125 g=1 @ 9T 7 &

Answer to each question carrying 5 marks should not exceed 100 to 125
words.

(viii) J97 TET 40 T %W#W#W?f
Question No. 40 related to filling the Map of India.
(ix) T @ FARE B B GG FER-gaH B T TG @

After filling the Map of India it should be securely tied in the middle of the
answer-book.

Wmmﬁﬂﬁaﬁwmmwﬁﬁﬁmﬁﬁﬁmﬁ%wﬂmﬁ
................ @l S 3l 1

(B I T T
(B) S wRET T
(C) St

IR H | HE &

The farmers are paid a pre-announced price by the government for their crops.
This price is called .............c....c.

(A) Minimum Support Price
(B) Maximum Support Price
(C) Fair Price L
(TJ;)' None of the above - a

P.T:O.



NG ST A v ¥ & @ T
(A) 2010 (B) 2005
(Cy 2000 ¢ - (D) 2024
Antyodaya Anna Yojana was launched in ................. ;

(A) 2010 s b S | (B) 2005 .
(C) 2000 _ o _(DJ_' 2024
=R FHT A DA T B chlqwi’f'-aaﬁﬁaé Fag?

h'(c)'yﬂﬁf' : :_ i 1 i (D)'ﬁﬁ;éﬁﬁg' .

. Which crop's p_x_'odu(__:tioﬁ increased the most due td.Grcén Revolution_ 7
(A) | Wheat - - [B) | f’ﬁlse l .
(C) Musltalrcll | | (D) Coarse grauns 4
2 iR A I & qH F 7
(A) =E SN E 1 o "

-_“j L T T R ¢ |  (tu éﬁ_ldﬁl.
White Revolution is related fo which productiofx ?

(A) Rice g . (B) Wheat Flour
(©) Fruit - (D) Milk
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WG F N G TATE A TSI A, TE 1943 FH ..o B i Colic-cor O T 1
(A) siErem N (B) M

(C) ST . (D) A

The most devastating famine that occurred in India was the famine of
................. in 1943

(A) Haryana T '(_B) : Béngal: _

(C) Rajasthan ' "~ (D) Kerlia

...... eirenn, R T T R G F A o o O e B 1
(A) =EME iR E ﬁc—crﬁ A St

) emaEm ) ST

..................... is located on the water divide between the Indus and the Ganga
river systems. | | |

(A) Chandigarh - . (B) Délhi

(C) Amritsar. 2EaCly P ‘l (D) Amngbala

A BT A IRA B oo TR H WG B JEwmadl F 1
‘ B g S onw ®) AU |

© wim D) X

. The Tapi rises in the Satpufa_l ranges, in the ----------- - dlStnCtOf Madhya
Pradesh. ey T J | s 3 '
(A) Betul © '+ . (B) Bhopal

(C) Gwalior L ak) e D) Indore

5 P.T.O.



(6) 3107
8. 2011 & AR N ST ..oovreereveres i ofe o fedto &m - ' 1l
(A) 101 =R uf & fBlo
(B) 182 @ Ry @ Refio
(C) 282 = gt & fHio
(D) 382 =&fe ufe a fadio
The population densify 'o:f- India in the year 2011 was ....... ik i)ersons per
sq. km. SRR LK
(A} 101 persong per s'q.;_kx__nf_
(B) 182 ‘persolns:pe;r sqkm |
(C) 282 persons per sq..l_l_k_r_l.r_ll.
(D) 382 persons per sq. km. |
9. HREM ...ccoovvenns, H AL EAM _ 1
(A) 26 TR, 1047 (B) 26 wEd, 1947
© 26 wah, 1950 (D) 15 oFT, 1947
The Constitution came into force on.................. .
(A) 26 N.ovember, 1947 0 s (B) 26 January,-lgd;'?
(C) 26 January,. 1950 i (D) 15 August, 1947
0. wRErT A R A faw A AAm Y il - 5 |
@A s i L (B)Y 10 |
(C) 90 A b WaF (D) (8

3107
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Haryana is divided into how many Lok Sabha Constituencies ?

(A) 5. : - (B) 10
(C) 90 | | (D) 22
. IRfEaR) I A 8 Tgad Mg e af Bt & 7 | 1
(A) 18 a¥ B 21
() 247 B Py 25
What is the minimum age for nomination of candidates ?
(A) 18 years ' (B) ‘21 years:
(C) 24 years : | (D) 25 years : .
St @ - A o & S @ e @ ¥ 1

12.
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(A) fBR % 7ol @ U b Tl F BT HA S

(B) <o et g e e A e aem

(©) e A & o o 7 B T F e

(O) s T WA S GaR R § 9

Which of the following is not an instance of an exercise of a fundamental
right ? . | |

(A) Workers from Bihar go to the Punjab to work on the farms.

(B) Christian missions set up a chain of missionary schools._

(C) Men and women government employees get the same salary.

(D) Parents' property is inherited by their children.

P.T.O.
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(D) ‘Right to privacy

31
(8) 07

T R T Y A o AR 1
(A) &HH H IAABR

(B) qaiet Siiferesr @1 SRR

@) ST TR A T W AT

(D) form @ erftrmre

Which of the following rights is available under the Indian Constitution ?

(A) Right to work

(B) Right to adequate livelihood

(C) Right to protect one's culture

T & B T T R @ A B 0 e
(A) HHR B @S Bl QA

(B) qee B ¥ W 8N @ whmr o 0 0 0
(©) TR T B R R gE s

Dy R A e R a0 B

Which of the following freedom is not a\}ailable to an Indian citizen ? |
(A) Freedom to criticize the gcjx:fe'rnmen't 2 -

(B) Fr_e-edor'ﬁ' to participate in armed fé\}olﬂtioh

(C) .Freec_:lb'm to start a movement to change the government

(D) Freedom to oppose the central value of the Constitution
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T T B T Ry A o 7 | 1
() WERd T '

(B) W@Hl TS T

(C) ST THHEA

(D) @l T

Who founded the Arya Samaj. ?

(A) Mahadev Ranadé

(B) Swami Dayanand Saraswati

(C) Raja Ram Mohan Roy"

(D) Swami Vivekanand

16. FH A AR ST qT H T oo FRATT an e e 1

(&) o R (B) - Frerr e gaR
(C) a fEE gER (D) R R

The Kuka or Namdhari Movement waé actually a......... ..... Movement. '

(A) ﬁeligious (B) Widow Marrfiage' Reform

(C) Child Mari'iage Reform (D) Educa’tiég Reform- il
17. STHEANT SfiRe Fd A §G-Tf? Rt i TR ,. A T o s Lol

(A) 1918 H A @ 1921 H v

(C) 1942 & sin @ femd Q) ) 1920 ﬂ_ pera B

When did the Non-cooperation Mov’em‘ent start ? - '

(A) In 1918 Pt (B) . In 19210 i oo selelasd i

(C) In 1942 (D) In 1920

3107
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19.

20.
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e S e o § wefeg @ ? 1
o Rgwt @) g o |
(C) fom @ o o

Mopla caste is related to which rcligion ?

(A} Hinduism “ (B) Muslim Religion

(C) Sikhism uﬁ) Christianity

YAl G T A A ST 6 R 7 ar ? " o 1
(A Rery R @ Y | |
(B) THFST TTEH

(C) fREH= |

(D) TETer e

Whém did Netaji Subhash:Chandra Bose accept his éuru ? 9

(A) - Deshbandhu Chittaranjan Das

(B) Ramakrishna Paramhans:

(C) Vivekananda ' I i L aloiniled
(D) Mahatma Gandhi - '

Nl B B P AN T R@AMAT? e e
(A) T@EH-T-FEH v, B G o

(@) S-u-deE e (D) PeES @ A

Which name was not given to Chaudhary Chhotu Ram ?

(A) Rahbar—e-Azam vk et R (B) Deenbéndhu

(C) Sher—e—Punjab it (D) Messiah of the farmers:
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21.maﬂtﬁw'éﬂmr&ﬁwm%? 2

What is the difference between Disguised unemployment and Seasonal
unemployment ? '

22. R 1 A o0 TR ot A E - G, o, A G wm R w2 2

Which capltal would you consider the best - land, labour, physmal capital and
human capital ? Why ?

23. Wﬁm_ﬁmmﬁﬁ-ﬁ-ﬁw%? - - | 2

What are the controls affecting the climate of India ?

24. SH-Y T FY-&< B R H E
Define death-rate and birth-rate. e

25. & S H AR ® 2 ! - ' | 2
Why do we need a Parliamént ? | |

26. ARG P e fﬁwwéﬁ Yo F, mﬁwﬁwﬁfﬁmw ARBT & 7 2

On which issue do citizens have the freedom to hold meetings, processions,

rallies and demonstrations ? |

27. %ﬁﬂﬁ%w%wﬁ‘ﬁmﬁw“wﬁ‘ | A8 i e

DlSCuSS the contribution of Dr. Hedgewar to the cultura] renalssance of Indaa

25.@%1‘#1%'%@%%? ' 4,7 e ' 2

[s the Nationality in India a gift of the British ?

3107 - e P.T.0
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& T Fq wd (v e - 29, 30, 31 T 32) FH TEHT B T UK F IW T

Read the given Case study (Question Nos. - 29, 30,:31.& 32) and answer the

questions that follow :

o O TR wEe ¥, o S6E SR ST B B TE o e Rat 3
wha & 5 @ @1 onghe P A ¥ ok daEE STER B ST ST fey
2 O A A eRa HY B BROT IJH B oeH FAT q W B OTAA A W Y
Tad TR ol & ffeE & Sror g o & Had SEr § A oe-E B 8 T R
Pl 1 iR ofr AW o Y TR dwed w5 a9 § a9 8 0 O T 8§ AR

a%gﬂﬁﬁﬁamagﬁzs%ﬂ%lﬁﬁwwﬁmﬂgﬁhﬁm%ﬁmsﬁwawﬁ
3G HAT =R

Land being a natural resource, it is necessary to be careful in its use. Scientiﬁc

reports indicate that the modern farming methods have overused the natural
resource base.

In many areas, Green Revolution is associated with the loss of soil fertility due
to increased use of chemical fertilizers. Also, continuous use of ground water
for tube-well irrigation has led to the cleplet1on of the water-table.
Environmental resources, like soil fertility and ground water, are bulldup over
years. Once destroyed xt is very. difficult to restore them. We must take care of

' the environment to ensure future development of agrlculture

797 : - #0n sl st R O] i Cotry
- Questions : : WELRIF R
(i) m@emmmmaw—ae%? | e |
The fertility of the soil has decreased due to the excesswe use of.
"(n) ﬁqmmﬁwzﬁrg@aww%?' . . 1

3107

What is the main reason for the decrease in ground Wa;c_er level? . .
(i) g B wEe ¥ 7 e PSR ST TT R

Land is which resource ?
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BN 29 ARG faed & gem 12 Sg-fafywer a9 ¥ w6 2 @R 47,000 FRE
SRt % 91 9 A & FRT g8 39 fed § g @ @ ol ot & A F 9w
W R AR H-@T 15,000 e & 0 ¥ oifs fava F gt & Gt w1 oo e 21gE
o F T A o B 0 ¥R B ot e (o) @ Fe (BoE) o am o #
ARG H AT 90,000 A 3 AT qor [T Fh B Feferl ael e S e

Our country India is one of the 12 mega bio-diversity countries of the World.
With about 47,000 plant species India occupies tenth place in the World and
fourth in Asia in plant diversity. There are about 15,000 flowering plants in
India, which account for 6 per cent in the World's total number of flowering
plants. The country has many non-flowering plants, such as ferns, algae and
fungi. India also has approximately 90,000 species of animals, as well as, a
rich variety of fish in its fresh and marine waters.

T -

Quesiions § ™ : _ .

(i) ora ® 9t i Reae genfadr o S § 7 1
How many species of plants are found in India ? - |

) @0 B A Ry B W A e | ' 5
Write the names of two plants which do not have flowers. '

(i) Fgg & R SR GERR O WA ¥ O S ¥ 7 1

What percentage of the World's flowering plants are found in India ?

99 § 1958-61 & . TS o 999 SRR F O T TG G99 WAEE STH
7o Hi9 &9 BT A TE q W I Bl NG @ i Rafr 9 @ A aga e
T oM ey o W § 9N @ G o AR qEad @ Rafy 7@ end st @@
o S B S At 2o @ e ARl SR BN § ARG SR 3 W e $ e
ﬂmm@rmm%aﬂrmﬁ#mﬁﬁwﬁwaﬁﬁ

China's famine of 1958-61 was the worst recorded famine in World history.
Nearly three crore people died in this famine. During those days, India's
economic condition was not much better than China. Yet India did not have a
famine of the kind China had. Economists think that this was a result of
different government policies in the two countries. The existence of democracy
in India made the Indian government respond to food scarcity in a way that
the Chinese government did not.

P. 1.0
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T -

Questions :

() =T F R D A Bhad @ @ A e ? 1
How many people died of starvation during the famine in China ?

(i) fae7 sfera @ W@ warge o Reg, 290§ wgt ok %4 wet 7 1

In which country did the most terrible famine in World history occur and
when did it occur ?

(i) RT F oreb & AR A A A A R = T I g ? 1

Why did the situation of starvatlon not occur like that of China during the
famine in India ?

@ SO T ¢ AT Ao 19 A 06 "eM UgdRl adr 9 R 9R-g-uee (deie
) B SR G W IR G Ao T of, 3 au ‘T g A ol araifes
FTHAT (B8 37 FHER G qOr 7A@ EW S A B g # w3y afea
3 % W ARG fan 1928 do # oo g O% I ARG B UEE S § G Ad @
@ A9 I O @ S Ugn SR B ofidie den BREnt 3 ofidiem Aot
iR 9| |

Lala Lajpat Rai : Lala Lajpét Rai was also a great nationalist leader who was
given the title of 'Sher-e-Punjab' (Punjab Kesari). He published an Urdu daily

called- 'Vande-Mataram' and an English weekly called 'The People'. Through
these newspapers and -other articles, he inspired people to make sacrifices for

. the defence of the motherland. Till his death in 1928 AD, he continued to

3107

participate in the National Movement of India. Meanwhile, he also had to go to
jail. He played an important role 1n the 'Home RuIe Movement' and the

farmers' movement:

797 -

Questions :

(i) Reg 3 @ Ao B TR AT K P 1
Which leader was given the title of 'Sher-e-Punjab' ? :

(i) I AT T B SR @ e @ A i - 1
Write the names of two i:)ublications published by Lala Lajpat Rai.

(i) wwm%ﬁmw@mﬁqﬁgﬂfwfﬂé%ﬁ?

In which movement did Lala Lajpat Rai play an important role ?
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THE I Wi 7 oy & 7 ' | 3

Why buffer stock is created by the government ?

W B Y A o R g § a7 ad @ e e 3
Explain. three differences between the Eastern Ghats and Western Ghats of
India.

N & T JeA ARER B4 7 3

~What are the three main powers of the Prime Minister ?

Explain the origin and spread of the Quit India Movement.,

wﬁﬁaﬁwmﬁmaﬁﬁqmw%&ﬁ%mwﬁmﬁw%

T2 B | ; | 5
Explain the location and size of India and name the countries which are larger
than Indi_a.

=} dfage @ sexd /i 8 7 ' | 5

_ Why do we need a Constitution ? |

39.

3107

qRd B O9eH & g7 g Fer e 5
Write five main reasons for tﬁe partition of India. -

P.T: 0.
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(16)

RT T a7 & wqan s ¢ R e B e

On the given outline Map of India show the following places :

(i) gfewe =a
Pulicate Léke
(1) aﬁmytﬁmﬁa“m%

Bandipur National Park
(i) R g g A9Fa
Sariska Wildlife San;:tuafy
(iv) HEgER S (e ) &
Cellular Jail (Kala Pani) Island
'(v_] EIGRICIGINE I

Jallianwala Bag

3107



